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5 (a) Convert the number 43 (base-10) to a binary number. (b) Convert the number
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6 Write a recursive function int sum_of_sq ( intn) using Cto compute the sum of

the squares of the integers from 1 ton, i.e., 12422+ ... +n%, here n is supplied in the

initial function call. (10%)

7  Please use full adders and exclusive-OR gate to design an adder-subtractor

circuit. The circuit input M controls the operation. When M =0 the circuit is an

adder and when M = 1 the circuit becomes a subtractor. (6%)
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